
However, the Thevenin resistance of any termination must be no less than 900 - 

Note: Thevenin resistance of termination does not include the 15 k 5% resistor on host/hub. 

The voltage source on the pull-up resistor must be derived from or controlled by the power supplied on the USB 
cable such that when VBUS is removed, the pull-up resistor does not supply current on the data line to which it is 
attached. 

Full-speed or 
Low-speed USB 
Transceiver 

R 

Host or 
Hub Port 

Z0=90 15% 

R=l5K 5% 

R=1.5K 5% 

 rub-speed USB 
Transceiver 

Hub Upstream Port 
or 

Full-speed Function 

Figure 7-20. Full-speed Device Cable and Resistor Connections 
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